PIRANHA OFFROAD PRODUCTS P/N BTPRA4C

‘Piranha Off Road products are not associated in any way with Toyota Australia or any of its related companies’

To Suit PRADO 90 SERIES / HILUX PETROL

PARTS INCLUDED WITH TRAY

1 X Tray

1 X M8 Bolt*

1 X M8 Bolt Short*

1 X M6 Bolt Long

3 X M6 Bolt

2 X M6 Countersunk**
1 X M6 Weld Bolt

5 X M6 Weld Nut**

1 X Body Washer

4 X Small Body Washer
2 X Self Drill Screws*

1 X Special Top Mount
2 X J Bolt

¥ Part Not Required for Hilux
** Not all are required for Hilux

RECOMMENDED ISOLATOR

DBE140SF
or
DBE180-SX

Prado / Hilux 5FZ-FE 3.4L V6

Prado 3RZ-FE 2.7L (Non ABS) [ hiarr

235mm L

MAX BATT WEIGH

FITTING INSTRUC']'IONS

The cradle fits passenger side rear.

This cradle fits:
Prado 4 Cylinder 3RZ-FE
Prado V6 non ABS 5VZ-FE
Hilux V6 5VZ-FE

To fit this cradle the charcoal canister must be relocated usually to the
driver side where most vehicles have the same bolt locations next to

the brake booster. The hoses for the charcoal canister will have to be
extended.(Not Supplied)

The fuel filter will need to be moved and can be mounted to the tray
by drilling a 6mm hole and secure with M6 weld bolt and nut.
Ensure battery top mount secured to guard

Note: If vehicle has Cruise Control, please allow extra 1 hour for fitting

Ensure, before closing the bonnet that all items fitted
have adequate clearance

Oct 2017

FITTING INSTRUCTIONS

© Automotive Ignition Systems Pty Ltd 2017 BTPRA4C



